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λ /nm

u

logarithm. Na-Empfindlichkeit
Na = ( Uo • To )0,5

log Na = ( logUo+ logTo)/2
log [ Na, Uo, To ]

uλ = (λ − 555) / 50
logUo = −0,35[uλ−u535]

2

logTo = −0,35[uλ−u455]
2
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log Na = ( logUo+ logTo)/2
log [ Na, Uo, To ]
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log Na = ( logUo+ logTo)/2
log [Uo/Na, To/Na ]
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logUo = −0,35[uλ−u545]

2

logTo = −0,35[uλ−u445]
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log Na = ( logUo+ logTo)/2
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uλ = (λ − 555) / 50
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log Na = ( logUo+ logTo)/2
log [ Na, Uo, To ]

uλ = (λ − 555) / 50
logUo = −0,35[uλ−u565]
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logTo = −0,35[uλ−u425]
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log Na = ( logUo+ logTo)/2
log [Uo/Na, To/Na ]

uλ = (λ − 555) / 50
logUo = −0,35[uλ−u565]

2

logTo = −0,35[uλ−u425]
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Adaptation: λJB=495
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logTo = −0,35[uλ−u455]
2

Adaptation: λJB=495

400 500 600 700
−1

  

  0

  

  1

535455

495

Schwelle
Ts=0.007

 
 XG331−3 
λ /nm

logarithm. Na-Empfindlichkeit
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log Na = ( logUo+ logTo)/2
log [Uo/Na, To/Na ]

uλ = (λ − 555) / 50
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logTo = −0,35[uλ−u445]
2

Adaptation: λJB=495

400 500 600 700
−1

  

  0

  

  1

545445

495

Schwelle
Ts=0.007

 
 XG331−5 
λ /nm

logarithm. Na-Empfindlichkeit
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log Na = ( logUo+ logTo)/2
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Na = ( Uo • To )0,5

log Na = ( logUo+ logTo)/2
log [Uo/Na, To/Na ]
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log Na = ( logUo+ logTo)/2
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log Na = ( logUo+ logTo)/2
log [Uo/Na, To/Na ]
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